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QUESTION 1

An administrator has noticed an increase in network latency when powered-off virtual machines are migrated.
Which VMkernel adapter can the administrator use to reduce this latecy?

A. vSAN

B. vSphere Replication

C. Provisioning

D. vMotion

Correct Answer: D

QUESTION 2

An administrator wants to ensure that a copy of a virtual machine can still power up on another data center during a
disaster.

Which feature meets this requirement?
A. vSphere Replication

B. vMotion

C. vSphere High Availability

D. Fault Tolerance

Correct Answer: A

QUESTION 3

An administrator is trying to create an alarm action that runs a batch file on a specific VM. Which alarm action should the
administrator use?

A. Run a powerCLI command
B. Run script

C. Send SNMP traps

D. Send email notifications

Correct Answer: B

QUESTION 4
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Which IP storage is supported on vSphere?
A. SCsI

B. VSAN

C. SAN

D. ISCSI

Correct Answer: D

QUESTION 5

An administrator would like to add a new server into an existing vSphere cluster. The servers are running Intel
processors. The administrator needs to ensure that the new server can be added to the cluster with the same processor
baseline as the existing servers.

Which strategy should be used to achieve this goal?

A. Fault Tolerance

B. Enhanced vMotion Compatibility

C. vSphere vMotion

D. vSphere High Availability

Correct Answer: B
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